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qraT=a 3397 ;

G) @t yoT fAard & | 39 ¥97-97 § FT 27 ¥7 8 | Fo7-97 wia @usl 7
fayrfsra & 1

(i) @U8 I § Jo7 G&IT 1 -5 % J9% Y97 Uk 3b & & | A% J97 & I
20 52 @ 3718 787 §HT =IET |

(i) @UE & § Y97 G&IT 6 — 10 % 3% Y97 1 37l &1 & | b J97 HT IH
40 szl & 371er% 787 F97 T0ET |

(iv) @UE T H J97 G&I7 11 — 16 T% b 97 TR bl H7 & | Ie9F 97 HT I
100 viscT @ 371 781 &1 T30 |

(v) @S 7 H Y97 G&IT 17 - 21 % Yo 97 Giel 37H] &7 & | I9F 97 HT ITH
150 55t @ 37feres 757 &1 FIfT |

(i) @Y T § Y97 §&I 21 HHGT W SYIRTG I3 & | 59 I 39T
FT-GiEdT 4 1e7iEe |

(vii) @UE T § Y97 G&IT 22 - 27 TF 9% Yo7 B: 3H] H1 & | Yedb J97 HT I

150 155 @ 3718 757 &7 T3T |

General Instructions :

(i) All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

(it)  Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

(iti) Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

(iv)  Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

(v)  Section D contains Questions number 17 — 21 of five marks each. The
answers to these questions should not exceed 150 words each.

(vi) In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

(vii) Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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Qs A
SECTION A

1. e 3 e TR % T T g &, @ 0§ - I 8
ST H 3 |7 39 AT o T T b @ ? 1
“When two rival powers are in possession of nuclear weapons, a
full-fledged war is unlikely.” What is the logic behind this statement ?

2. & GYH U AT & foIu haar ‘emdlier weg w1 TN R Sam g, at

ST T HE<d © ? 1
HAAAT
‘ATIH SIS TH | T AT g ? 1
What does the word ‘America’ signify when it solely refers to the USA ?
OR

What is meant by the phrase ‘Operation Desert Storm’ ?
3. “sfem wieh w1 sweh S e & T8 g @2 s T % s @ fre 1”7
Teh ITYTH Ieh g 39 A h gfee v | 1

“The real challenge to Indira Gandhi came not from the opposition but
from within her own party.” Support the statement by giving one
appropriate argument.

4.  IASF TG § B¢ 8 ¥ U1 gH ITeT aTdfash @l TS it | 1
Explain the real danger posed by the Ozone hole.

5. 1970 % T H Te-FUE AeH gt fefiiRed weMl § @ E-E ®ed
39! foameam @ e 757 @ran ? 1
(%) Ig TS AT Wewra o foeg o |

(@) 98 3 < A 3nfdfer Tadzrar & foiw srERa o |
(1) U4 STTTE T qeEed sl ifd ! sigran faam |
() 3ok Teed ow foreft oft @fiek mese  wnfire 7 g
BPC)
3fid g Geeht fAfaRaa weFi § 9 HH-91 HeF FTeT 8 ? 1

3

S~ ~—

(%) 38 TH 3R fowa g+t 570 faam |

(@) =8 g vgmIfe o o foamymenss g o |

() I8 MO qn Hifaad TSl o ote yfaeagl off |

(7) 3G SR fieht TasEHl % 2E % e SIS s9H 6 g o TS |

o
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Which of the following statements about Non-Aligned Movement during
1970s does not match with its ideology ?

(a)  The organisation was against racial discrimination.
(b) It worked for economic independence of small countries.
(c) It promoted the policy of isolation and neutrality.
(d) Its member countries did not join any military alliance.
OR
Which among the following statements about Cold War is false ?
(a) It led to the outbreak of another world war.
(b) It was an ideological war between the two super powers.
(c) It was a competition between the US and the Soviet alliances.

(d) It triggered an arms race among countries of rival alliances.

Qs d
SECTION B

6. ®H G, WA o oI H M@ ¥ ®F & M ad Ik <@ W FT INE
ugT ? 1+1=2

How did the decline in the value of Ruble, the Russian currency, affect
the people of Russia and their country ?

7. 39T % U I 3NN <h TAAT 1 fore @ TR 2 2
SrqaT

Wa bl Tufsa sreleaesen gumet Y foral @ fammsarsti st SR HifST | 1x2=2

Why did the villagers of Orissa protest against setting up of industries ?
OR

Highlight any two features of the system of mixed economy in India.
8. U =W g ful i qgae T S M 9 Hl Teh TSUST H1 €9 <
; 1
| —x4=2
2 P
AT
1962 H 9Ra 3R 9 & e @i oy w1 g9 SR 9 < & Al TR
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Identify four common symbols that make the European Union look like a
nation state.
OR
Identify the two regions which were the actual basis of the border conflict
between India and China in 1962.
9. 1950 % T § YRAT TSHIfd o 8 I ! HIUH JUMEH S hal T 8 2

I3 & %Rl ey | 1x2=2
STUaT

TORMaT a9 FEHH & YR W YA S99 37 el § f3= o1 | &6l @

SUIH b ¢l 39 HYA hl gfse iV | 1x2=2

Why has the period of Indian politics in the 1950s been described as the

‘Congress system’ ? Give any two reasons.
OR

Bharatiya Jana Sangh was different from other parties in terms of
ideology and programmes. Validate the statement by giving two relevant
arguments.

10. 3719 39 %99 ¥ Hal qe TgHd & fob sfeq et 3 1971 — 720 I $= T, a8
Ut it urdl ol gt e T o wfess gfew wieht g weh € st W urd
ST AT ? 2

How far do you agree with the statement that what Indira Gandhi had
done in 1971 — 72 was not a revival of the old Congress Party but she
re-invented her party ?

Qug |
SECTION C
11. 9Rd § 99 1975 U ST U TS 3MUTAhId & foheal =R aRumdt =1 3TTehets
I | Ixd=4
AT
1977 % TGl H, iU U o Th faehed & &9 H, ST UIET o I I
TR T | 4

Assess any four consequences of the national emergency imposed in the

year 1975 in India.
OR

Evaluate the emergence of Janata Party as people’s alternative to the
Congress Party in the elections of 1977.
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12. &l & 3Ierewon il GEEdr 4, U QAN W o A W R gEEd Hi

Ui HIT | 2+2=4

Describe the US hegemony as a structural power, with the help of any
two examples.

13. v & uyerq wRd iR wifeea™ & e gq@ gud & Rl Q ardd

T hIFVT | 2x2=4
Explain any two areas of major conflict between India and Pakistan after
partition.

14, TEioE gRI GHEAS o T8 FeE 3R gari &l A i % TAE & 969,

it | 1 faed @il g7 ? I3 AR HROT T HIWT | 1xd=4
teran

1970 o ¥ H HfoAd HaeT hl TR TEATT I URA hl ATTwIhal i

9E! ? I3 AR HRU T HINT | Inded

Why did the Soviet Union collapse in spite of Gorbachev’s accurate
diagnosis of the problem and his attempt to implement reforms ? Explain
any four reasons.

OR
Why did most of the institutions of the Soviet system need reforms
during late 1970s ? Explain any four reasons.

15. 91 7Y HeHA & foh ATTehUl o ATERfdh IHTE Hed ThRIHS BId @ ? 39
I % THAA H FIE @ UG qh QT | 9x2=4

Do you agree that cultural consequences of globalisation are always
negative ? Justify your answer with any two suitable arguments.

16. IRUNH GRaa Hifd o fohegl 9R awdl <l = i | Ixd=4
3rere

ol fova Ig & dvarq uRmn qun STkt o 9 TEad <N o T AW drel
&I Sl Teohegl IR AT Shi SR it | Ixd=4

Elaborate upon any four components of traditional notion of security.
OR

Explain any four security challenges facing the newly independent
countries of Asia and Africa after the end of the Second World War.
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SECTION D

17. = fqu Tu Ao w1 eHgEs steE Hifve i ffafgd gt % 3w
fafiau

(1)
(ii)

(iii)

33d €I & IR H UG & 0eg 9 § fog Jer urdl o
fohre GRS & dgd Wed WeW, a3 HEReg ¥ o arel]
T R 3Tl HEh A W 30 §1$, 135 WA @A 3,000 B
S FH 1 TEAE W@ T | IS0 o TLER Tel 3R 7L Y¢9
THS AR WY o &9 § QA G99 FI IR a3 ISR h
Fgtor fopam mn | 9der 96} % S=g | qHer S=e AT 9T | 39
e J S o FEir o1 oy feRam | AHer s=nen STeleE 3=
e o fAmior & gy o § 9 @ o qf@sieT & s
T off HaTed 33T @R |

T =t H YR <hl TS Hecarehiell ufesHr w1 AW fafEw |

qHer 9=1eN 3Teidd o Gfshd HRGAIST g’ 39 RSl & fog d

33T T fehedl g1 el sl TIse SHIfT |

FHET S TG o TRW W & 39 GREeH o oy i 3 98 &

o 91 o1 SISt TR ?

1+242=5

Read the passage given below carefully and answer the following
questions :

(1)
(ii)

(iii)

An ambitious developmental project was launched in the
Narmada valley of central India in early eighties. The project
consisted of 30 big dams, 135 medium sized and around 3,000
small dams to be constructed on the Narmada and its
tributaries that flow across three states of Madhya Pradesh,
Gujarat and Maharashtra. Sardar Sarovar Project in Gujarat
and the Narmada Sagar Project in Madhya Pradesh were two of
the most important and biggest, multi-purpose dams planned
under the project. Narmada Bachao Anadolan, a movement to
save Narmada, opposed the construction of these dams and
questioned the nature of ongoing developmental projects in the
country.

Name the ambitious project launched in the Narmada valley.

Explain any two concerns raised by the activists of Narmada

Bachao Andolan against this project.

Since its inception, why did the Narmada Bachao Andolan link its

oppositions to this project with other larger issues ?

7
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18. = fou wu fum o1 eamqdes srerem fifve qen Fefafea yet & 3@ fafew

()  fean gon foa form w @ waifea 2 2 97 < foret wardia & e 2 2
(i) 38 fo3 4 fou U A @ g, afid oo N 9gEH R ° 98 | ?
(iii) I8 gt foe o1 goid § 2 142+2=5

Study the picture given below carefully and answer the following questions :

(1) The given picture refers to which country ? Name the continent
where it is located.

(i1)  Identify the two symbols in this picture which help in the
identification of the country ?

(iii)) What do these two symbols depict ?
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g :  [HrkiRad ge dacr gieantaa ghgndar & o, 97 G847 18 F T W8

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 18 :

(18.1)

(18.2)
(18.3)

(18.1)

(18.2)

(18.3)

T Wil =TS TS a0 deshlaii Jal o7 YI1sTuT fohe w1 & gafed
¥ 239 Q¥ 1 QU A R 8 ?
39 <X o AT Toh™ T, 3 Q1 13t o1 & ANGH &1 o ?

fomr o femmn T B |ARE S Al Ushd w1 TAE R R @&

37 1+42+2=5
Premier Zhou Enlai and the then leader Deng Xiaoping
belonged to which country ? What is the complete name of this
country ?

What was the main contribution of these two leaders in their
country’s economic development ?

Why is the little man shown in the picture trying to stop the
dragon ?

19. 9 fou MU sradwr w1 eamyEs stewEd Hifve R Fefafed v % IW

fefem -

R fafir 2o hl THR hed I3 B d 39 HEA! hl

gfrfa 39 e § TSifae 8T | 39 HEQl | SAfUeh g 7 o foreft
T ¥ i TR 3Th1 T TG kel CH T T8 HL Hohdll | 39
ToE ¥ A vue foveusHifa &1 feem a9 S g | wteRer qen
TTehfeh THIGAT § HHaf-ad T T R Tal 31 | T 3 |

@)
(ii)

(iii)

FAGH o Tohegl Q1 qTawr Taefl TR i U8 HIfT |
e fomm #, waterr & Rt st T & fau -8 @ faga

YT AT Tohdl & ?

G goei & ol @ ‘T’ afommt @ foveww A | 1+2+42=5

AT
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’EIS?E
- f= fou U s w1 eamyde TerEd e ot frfefed ywEl % I
faf -
a4 gefl-amer () & @wsidl o fhameee &1 T
JEare 1997 § fhan | suen geu fised a1g o T foasprasfier qont
! TEmdt s W T R Afafes foxiia dargm e g>iewer o ey
H OgR HIfed g arell SRnfiehl Gaam e i foem o wi d@nefw
wifd & g B | WA 3@ 9 B FE) A @ fR foeefa 2w
fomrasfial <ot i foaxfie doreq qon T@=s MEfieh! aar -
foTe qa U™ L A1fes forehresfial <1 9,09, w%. &8 E. (UNFCCO)
&1 gt wfdergarstt Sl 9 #X T |
() I E.THHELHH. (UNFCCC) &1 faeqd &9 fafEn |

(i) I UA.TERH.HA A, & Iaia famesia o 6 HieE Sfaeagarsti
AR i |

(i) Torresia <o foia SEeH 9o Wog (TAE-3Tqhd) TRNfehl
Tt 3ral W I o1 SHEHT A1Ed | ? 1+2+2=5

Read the passage given below carefully and answer the following

questions :

If the various governments take steps to check
environmental degradation ...., these issues will have political
consequences in that sense. Most of them are such that no
single government can address them fully, hence they have
become a part of ‘world politics’. Issues of environment and

natural resources are political in another deeper sense.
1) Identify any two of the present day environmental concerns.

(ii1) In your opinion, which two principles can be adopted to check
environmental degradation ?

(iii)  Analyse any two ‘political’ consequences of environmental issues.

OR

59/5/3, 10
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Read the passage given below carefully and answer the following
questions :

(i)
(i1)

(iii)

A review of the implementation of the agreements at the
Earth Summit in Rio was undertaken by India in 1997. One of
the key conclusions was that there had been no meaningful
progress with respect to transfer of new and additional
financial resources and environmentally-sound technology on
concessional terms to developing nations. India finds it
necessary that developed countries take immediate measures to
provide developing countries with financial resources and clean
technologies to enable them to meet their existing commitments
under UNFCCC.

What is the full form of UNFCCC ?

Highlight the existing commitments of the developing countries

under UNFCCC.

resources and eco-friendly technology on concessional terms ?

Why do the developing countries want transfer of financial

20. = fou MU e w1 eamyde TerA e o frffed weEl % I
o

(1)

IEE & ITUMYSR HT AT 31 A & g A foram w6
ATl 3-8 T M | Ig6 Hl IF & oI HIF U F AT
. HETS 4 AT I o AT AR "l 9 FoAR-Aew R | 3=
urn fop |t A eIl WS W ue H 7 | A, HiE qE9E g %
ffdte Jar 97 U 3R 38 HWE 9 oW & YgH T o9 | e, 3T uewW
% ¥ 3R IgE & AOHSA U 3 Al dsb W @ A | 3Rl oA et
foreht foremr o1 foame 7 331 o1 | S STRadl Wiel W 9E® 3 W
SE-8-591eT (R B U 9 | st e1ut greft o faga fset & forw
afrg 9 |

T8E Wl Ug o UNEId ITUURR 1 T TAA § & 8H h BRI,

AT o HH-H 3l Heg Terd 1Hg gY ?

11
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(i)  TerHl T a1 gRI A8 YA ShITT foh oIt 181G et S1oHT figia

fasar o fow ufag 9 |
(i) W % TUFHEECE Sl § WA % GHY W el fhdl af ged At
1 IR HIT | 2+1+2=5

HAAT

f= fou U sradr w1 eayde TerEd e o frfafea wEl % I
fefu .
sfen wieht o o s oW wEE ¥ UoHifa # Afea off, AfeT o
FRIGL AT 5 Abmed § o8 A ol 9 3l ug W off | %w & aftss
I3 4 YIGAT Tg GiEeR 3Ah1 quedd T B for wmmEfe e
Torifae A § @8 3Yd 9 g o HRur TmeH iR feun-fdem %
o sfen wieht 39 W Ak @l | vum 9= SR % T 9 o 3 sfen
el 1 ek AT % FAET H qIET hi IETS B TS | 39 I dh oI
&1 anfoer feurfa ot off wue & 78 oft | sue sfen hi Swisaar S
¢ e | 34 HISASA! o Aok I8 U1l W 3791 e s 3t 39q
e hIvr i fe@e i it H
(i) 1966 H IS H TG % TLAM, 30 MW h A, HiYY e h [T
I Afss AT 3 g Tt & ug o forw g« ?
(i) 3T 99¥ < < e feafa =t et =@ & fou, sfew wieh gro 6
T2 foredl @1 fiferra vgal = T v |
(iti) 1967 % FAEI oh YA, ST M = AT qcal iz S fe@mn qn
it % oiet oot fufa i A worE foRm 2 B @ Serew AT | 1424225

Read the passage given below carefully and answer the following

questions :

The ease with which the succession after Nehru took
place proved all the critics wrong. When Nehru passed away,
K. Kamraj, the President of the Congress Party consulted party
leaders and Congress Members of Parliament and found that
there was a consensus in favour of Lal Bahadur Shastri. He
was unanimously chosen as the leader of the Congress

parliamentary party and thus became the country’s next Prime

59/5/3, 12



(ii)

(iii)

Minister. Shastri was a non-controversial leader from Uttar
Pradesh who had been a Minister in Nehru’s cabinet for many
years. Nehru had come to depend a lot on him in his last years.
He was known for his simplicity and his commitment to

principles.

Which two fears of the critics were proved wrong by the easy

succession after Nehru’s demise ?

Give any one example to prove that Lal Bahadur Shastri was

known for his commitment to principles.

Highlight any two major challenges which India faced during

Shastri’s Prime Ministership.

OR

Read the passage given below carefully and answer the following

questions :

While Indira Gandhi had been politically active for
very long, she had served as a minister under Lal Bahadur
Shastri only for a short period. The senior Congress leaders
may have supported Indira Gandhi in the belief that her
administrative and political inexperience would compel her to
be dependent on them for support and guidance. Within a year
of becoming Prime Minister, Indira Gandhi had to lead the
party in the Lok Sabha election. Around this time, the economic
situation in the country had further deteriorated, adding to her
problems. Faced with these difficulties, she set out to gain

control over the party and to demonstrate her leadership skills.

13
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1) Which senior leader of the Congress Party contested for the post of
Prime Ministerial candidate along with Indira Gandhi after
Shastri’s death in 1966 ?

(i) Explain any two policy initiatives taken by Indira Gandhi to

control the economic condition of the country at this time.

(i1i) How did Indira Gandhi assert her leadership skills and consolidate
her position within the party after 1967 elections ? Give any two
examples.

21. WRA % U T TSk W@AERE (T8 16 W), H 9" A H
@, ®, ©, © a1 ® g gt T 2 | A9 & T8 TEER % YR WS
TS 6 989 T 3R ot IT-gfeaent | $h Tal 9, WM Al TS
SR hl hH GEAT qAT Gefed AR, i &) 8 difetsht & &9 4 fafgu

T bl T8 AR
&1 HHE-TE

(i)
(i1)
(iii)
(iv)
(v)

Gra(-ed AT | TSI hl 91

() el foreh Ao @ wsfed T |

(i) 98 Tsg o 31 Ui stfeaea o fow erge foman |

(iii) 98 T g SISl a1 el T T 7 |

(iv) o8 Usd S8l Anlare SHeidn g3l |

(v) 9% Usa 8 v "fagm g fomw gt fean mn g | 1x5=5

14



In the given political outline map of India (on page 16), five States have
been marked as @), @), ©, @ and ®. Identify them on the basis of

the information given below and write their correct names in your

answer-book with the respective serial number of the information used

and the concerned alphabet as per the following format :

Sr. no.

of the

information used

Concerned
Alphabet

Name of the
State

1)

(i1)

(iii)

(iv)

v)

(1) The State associated with Anti-Arrack Movement.

(ii))  The State which saw movement for separate national existence.

(111) The State where the Bodo and Karbi communities live.

(iv) The State where Longowal Accord was signed.

(v)  The State which has a special status given by the Constitution of

India.

15
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T 9. 21 & fow For question no. 21

U T {T-AHH (TS TR )

Outline Map of India (Political)
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Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) el fotieht oTigre @ wefa Tsa w1 AW fafe |

(21.2) YARR | Tohd TS A T TS 3ifeded o fofw amgied foham 2
(21.3) YA I HIH-A1 TSI SISI qAT HL TR § FEd g ?

(21.4) 3| U 1 9 fafw &t <Aimare ausian gan |

(21.5) IW YRA % 39 ST hl UgaH e S =g 370 & A

e et fear w2 1x5=5
(21.1) Name the State which is associated with Anti-Arrack
Movement.

(21.2)  Which State saw movement for separate national existence in
the North-east ?

(21.3) Which North-eastern State is associated with Bodo and Karbi
communities ?

(21.4) Name the State where Longowal Accord was signed.
(21.5) Identify a northern State which has special status under

Article 370.
wuE g
SECTION E
22, Te-fRusar &% T fiF smuRa qoui o faerht foami @ el Hifve s fia
g I TuIfed o a1g ot IEh 2 | 2x3=6
3t
Ma g 1 ¥ B W mEmkeal % forw fma 9r alet § weEe 9 2 vl
HIFT | Iéx4=6

Describe the three core values and enduring ideas of non-alignment

which remain relevant even after the Cold War has ended.
OR

In which four ways were the smaller states helpful to the super powers
during the Cold War period ? Describe.

59/5/3 17 P.T.0.



23. THYIH fova # GFh U hl YfHeR 1 UM hINT qAT HeR! HwISAT 1 o

3o I | 6
Jrra

I TS L&A qiug shl FCaFT 1 9uH hifve | Ife g8eh TArit et & i

SRk g o <ft STe, dr e g 2 4+9-6

Describe the role of the United Nations in a unipolar world. Also,

mention its limitations.

OR

Describe the composition of the UN Security Council. What will happen if

the veto power is withdrawn from its permanent members ?

24, USE H WA sh! TATHT R HET ST a1 o7 | 39 fesm § 1984 © 1997 9
foRU T STET T oo I | 6
YT

“2004 % S HHT IAE[ % YA URA H s GwEd AR Fgd-H FEN
TaNG, IATHA TSHITdS el H Teh Henfd-Hl 3wt o s |7 fopedl ofF
U e g §H YA T FHH HINT | 2x3=6

The road to peace in Punjab was not an easy one. Evaluate the efforts
made in this direction from 1984 to 1997.

OR

“In the midst of competition and conflicts, a consensus appeared to have
emerged among most political parties in India after the Lok Sabha
elections in 2004.” Validate the statement with any three suitable
arguments.

25. 1947 H TaAAT % qld ITAN, WRA I BIC-BIE ¥ § ¢ AW hl AU F,

AT TTHR 7 HY Ul ? 6
Jrqa

AT AR T AT TSAT o HI0T h [ I, YAd TR 4 IR T &=

iR &1 Tt 2 33 Fvia & s uftom feee 2 3+3=6
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How did the interim government prevent possible division of India into
small principalities immediately after independence in 1947 ?

OR
Why were the demands for creation of separate states on linguistic lines
initially not accepted by the Indian Government ? What were the effects
of this decision ?

26. BNd hifd o i ThNIcAs 3T d19 FehrIcHesh IRl &1 favewo hifse | 3+3=6
STt
“fecfia Jaeffa IS % 3Tt dig TR W od feam T 99n °w %
GLETCHS G H a9l & YRea 1 d&d T T |7 IS8 shl FEdl ¥ ed
i gfsd ST | 6

Analyse three positive and three negative consequences of the Green
Revolution.

OR
“The Second Five Year Plan stressed upon rapid industrialization and
aimed for quick structural transformation of the nation.” Justify the
statement with the help of illustrations.

27.  “1962 % YNG-HH Ig 7 WA I BfT a1 <w q fogw gt # ygfvra fom (7
T AT 3H hA9 U HgAd & ? Tehegl dI9 dehl @RI 394 IR bl IRT=d

CIUE 2x3=6
T

Ifg 3eh! e fgd § vra it foagw ifa & $ uitads & &1 e e, a

39 -8 fi7 giarda ggmd 2 2x3=6

“The Indo-China war of 1962 dented India’s image at home and abroad.”
Do you agree with the statement ? Justify your answer with any three
arguments.

OR

If you are given a chance to make some changes in India’s foreign policy
keeping into mind our national interests, suggest any three such changes.
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